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" For each question from 1 to 30, four opticns are given. One of t_hém is the correct answer. Maké' :
.. your choice (1,2, 3 or 4). Shade the correct oval (1, 2, 3.or 4) on the Optical Answer Sheet (OAS).

(60 marks)

4 Which one of the following classifications of the four a_nim'al-_s‘ sho'wﬁ below is cor{ect'?

A Seal
- B Whale
" C Guppy
D .‘F"!a'{ypus
r Fish . Mammals that | Mammal(s) that
T ' ‘give birth to live fay eggs
. young .
(n C only Aand B-. - CandD
2 Conly. . AzandB ' . 'Donly.
(3) Band C . Aand B - D only
- (4) Band C A,BandD. |- ~ CandD

2 The table below shows how some materials have been classified based on a certain property..

Group A Group B
carbon steel
‘copper nickel
- aluminium cobalt

‘Which @ne of the following is the property used for the above classification?

Group A ] . _“. Group B ' E
(1 “Floaton w;';ater , . . Sink in wat_éf"'
(&) _ 'Good heat con:fductors . Poor heat.conduc:tors
(3>) - Conductors of électrjcity R Insufators of électricity ‘
4) : NOnfmagnetic'maiéﬁals _A - M_agnetic materiél‘s 7




3. The table below shows ihe comparison between a plant cell and an ajhimél cell.

“Plant Celi .

.. Animal Cell

A B - . Has cei[wail--

Does not have celt wall

B , ) . Has chloroplasts "

‘Does not have chioroplasts - |

C ... Does not have cell m‘em_brané-

. Has cell membrane

Which of the above cpmpaﬁsbns are tme?_’. i

(1), Aand Bonly -
{(2) AandC on.ly .
(3y Bnd c only

) A Band C

: 4 Which .of the fol]o‘wir.tg statements about inhaled and éxhaled’éir_ are frue?

Inhaled air

E)'(hicl!ed air

Al . It contains more oxygen. =

. - ltcontains less oxygen. A

B Its temperature is lower. lts_tempefatufe is higher.
c It contains less r."ﬁ'trég_'en._~ ' It cpr_;tains more nifrogen.

D | I contains more water vapour. .

- It contains less water vapour.

(1) AandB only

@) B a.nd D oﬁly '
3)- A.ahd'C;,c‘):nly.
(4)

‘A,BamdDonly




5 N_eedlé S is made into 2 temporafy ﬁqagneﬁ_ by usfng thé 'sfrokiﬁg method as shown below.

Needle S

Needle S is then placed near a compéss. Which oné of the following is correct?

o) @

(3) - (4)
B _




6 The diagrém bélow shows the hurmnan dfgestive system with paris P,-Q, R, S and T

Alj;- Ber?‘-}’Ch_ﬁs and'DaVid each made a correct Statement about the digestive éysteh.
Ali: " Solid waste is found here.

Ben:' Digestion is3'c;)m_pl§_:ted here.
" Chris: Wafer is'ébsqrbed from the u}tdigeéted food Hére-’

.ljavid}, Digeétive:juices are secreted here.

‘Which of the labelled parts P, Q, R S and T wouid correSpond to the staterﬁénts-made by Ali,
Ben, Chns and Da\nd‘? : : '

CAE | ‘Ben o  Chiis . _ David’.
mp._._ T S R Q
2) R T Q .S
&) P s R T
@ T R s P




.7 Five similar rods, D, E, F, G and H, made
4 time in the experiment as shown below.

=
-

candle wax -

N

bunsen
" burner |

i rod’

of different _mateﬁ__a[é, are heated separately one at -

retort stand

The tifne taken for-ithe candle wax on each rod to melt corﬁpletély- is recorded as shown n the .

table be[ow.

Rod Timé taken (secénd's)
D 59
E 73
- F | 35
G 47
| H 2

Which one of the following shows the arrangement of the

rods according to their heat =

conductivity, starting with the rod that is the poorest conductor of heat?

(1) H,F,ED;G
) F,G,H.DE
@) E,GFH,D

@) ED,GFH



8 Jlm has 2. contamers A and B, of the same volume He fi i[ed Conta:ner A to the brlm with
" wateras shown in the diagram below

. Whith eei’ the foi!owmg statements correct!y state what w1ll happen |f he poured all the water
. from ContamerA into Container B? :

o 6o w o »

.

L®
L@

Contamer B wﬂl be fi Iled to the bnm and the water will take the shape of contamer B..
Contalner B w:ll be f lied to the brir and the mass of the water will remain unchanged
The water. will take the shape of contalner B and the. mass of the water wil change.

The water will take. the shape of contalner B and the mass of the water will remain
unchanged

A, anq'_B.jonIy ‘
Cand D ohly '
A, B and D only

A B CandD -

,,,,,



a The table below shows Sean's pulse fate at d'rff‘ere_nt.ﬁmes of fhe déy.' '

" Time. | Pulse (l‘iea'rtb‘eats per riinute)

gam. ' ' 45 ¢

1p.rﬁ; N S 85

Which ‘one of the following.is @ '-possible:-.fepré:'aéntati-qn‘.bf ‘what Seanwas doing:at each L
. particular time of the day? ' . ST T C e

6 a.m. , 8 a.m. : 1 p.m.

{15 , Running-  Sleeping - Walking'

(2) . Sleeping Walking I Running

(3) © Walking o - .Sleeping . : Runniné ,

{4) Sleeping . " Running , o Walking




10" The set—up below shows a circuit. tester When it i [s connected ’to a c1rcu1t card, the Ilght bulb '
lights up- - S

circuit -

' card
5 A
é
e

Whlch one of . the following dlagrams shows hew the wu‘es are connected at the back of the
circuit card such that the bulb llghts up? i

ORI @

(3)

[ -




11 A white wall, a g{ass ball, a metai cube and a iorch are placed ina stralght Ime as shown in o
' the diagram below. . , ‘

white wall

o Y S|

- glass béll .metal cube

When the torch is swstched on, a dark shadow is formed on the white wall WhICh one of the
following shows correctly what |s seen.onthe wh:te wall? -

. ' ._"(2)

®) @ '

10




- 12 ‘f_he diag-r_arn'below shows the cross section of a flower.

Which one of the following parts is wrongly matched 1o its _functiq_h?' T

" Functfion’
Altracts pollinators

(1)
)

@

@

L.

Develops into a fruit

Devélops into a seed -

O W o
R R g

Produces pollen grains .

A1



13 T he tab!e below. gives ‘inf\orArnation _abéut four:‘méterials, A B Cand D based on four
~ properties. A tick () shows that the material has the property listed.” '

E .- ‘Material - g 4]
" Prp_‘perty_ _ i A . B C D
, Bend'_s eésily with‘out'b'reéking A v
| Good condu'cfor‘lof heat - .' . | | ‘ | ,/ o .
‘Can be étt'r.;acted by_maéne;s_ | ' T L _ . | RV
: AlIOWSmosthghttopassthrough -~ = v

Which oné of the following materials represent§ a rubber band?

(1 A
) B
® ¢
@ D

12



14 'I_’hé d_iag.réms below show the ‘Iife cycle of 2 insects.-

' Adu[i: x

d

- .IhS,e-ct-A )

3 months"

Laﬁfa .
. ; - Adut
2-3weeks _d&ﬁ
Pupa: - InsectB Egg
- Jweeks Larva

- The two diagrams canriot be uséd-to compare:

(1) thefifespan of the two insects
@) t-he;;nu.mber of-stages in each life cycle

_‘ (Bj the fme'thods of réproduction of the two insects |

{4 ' the ‘number of days it takes for-'the.eg'ygs to hatch

13



15 ‘Four identical beakers, A, B, C and D, were filled with the same volume of water. They were

left in four places with different conditions for ten hours as shown in the table below.

. Beakers .- A B. -] e D
‘ RN - Sunny Sunny - Cloudy . .} - Cloudy
Conditions -  Windy - | . . Not windy- |  Netwindy Windy

Which one of the following graphs correctly shows the volume of the water left in the fou‘f i
beakers after ten hours? o : T N

Volume j Volume

of water | of water
Beaker

Volume Volume

| of water 1 of water

.Beaker

14




16 Wen Mlng swam ten laps in the sw;mmmg paol in the afternoon. What is Wer Ming’s source of
energy and what are the eneérgy changes during the swim?

17

Source of Energy Energy Changes
D " Foo d. ' Chemical potential energy — Kinetic energy + Sound
’ . energy s
@ - Sun. “Light energy — Kinetic energy + Sound energy
_(3) - Moving water Kinetic energy of water —» Kinetic eri'ergy + Sound energy
_'(4) Wind Kinetic energy of win/g — Kinetic energy .+ Sound energy -

10

. A group of pupils counted the plants and an!mals in th’e school garden The bar chart be!ow
- shows their resuits.

Number of organlsms
' wn

Flowering. Non-flowering Animals - Animals. - Animals  Animals

plants- plants -with.no  with 4 withe . with 8
- legs legs T Iegs' E legs

Which one of the followmg statements about the plants and animals in the garden is correct‘? a

(1) “There are two garden_ (_:omrr'aunities. . -

(2), .There are fitteen populations of animais.

(3). There are at ‘ikjaast six populations of’f)flant's and animals.

(4) - The number of animals with six legs is fewer than those with eight fegs.

45




hows a roller coaster. Which one of the following graphs best show

18 The diagram below's
en kinetic energy and gravi‘(ationai potential energy of the rofler

the relationship betwe
coaster as it iravels from W o Z7?

Lo - .
‘ \'(h ] . .
AR -
.\ , \ o P : \
rrrr";rﬁ 3 ﬁh(rrr[ﬂn’ﬁﬁh
. A
(D
() Energy TN _-itTTTTRUe~ o emTTETT
—> Distancé
F 9
3 -
— Distance
@
» Distance

16




18 An ekperiment is being done to determine how the amount of light affects the growth of three
different types of pea plants. Peas of each type are planted in several similar cups and the
cups are labeled X, Y, or Z to show the type of pea planted in-each. Some cups are set in
each of three locations to receive different amounts of light. ’

- Which one of the following best shows how the plénts should be arranged for the experiment?

(M

3)

(4)

@

-
-

Y vy

Zlzl z

XXl x|

Location! . Location2 ° ‘Location3

X[ vtz | x|yl z Xyl zi
" Location 1 Location 2 Location f;’/
x|y Xz | Yl z
L'd_‘c:ation_"l Location 2 Location 3

X Y z
Location 1 Lo_éation 2

Location 3 -

17



20 The diagram below shows one of the tongest roller coasters in the word.

v
an
s ATy R -lii““ii - Z
AR gil““ 3
- P St
. i g T
| e N
o P U w.
: AT L IRA o
i: Attams

‘Three pupiis made the following ét'atemén_ts régarding'tbe gravitational po_tentiai energy at
points W, X, Y and Z: ) : - oo : :

‘Daniel: “The roiler coaster has the highest gravitatioﬁal potential energy at point Y asitisat -
the higheit' fheight-compare}d to points W, XandZ” :

“Jane: “The roller coaster has the highest gravitational potential energy at point W as it is at
the lowest height compared to points X, Y and Z. ' o

- Brandon: “The rolle-r'coaster has about the same gréi:itation_al potential energy at points X and -
- 7 as both are almost at the same height.” . C

- Which pupil(s) made the correct‘s_ta.temeht'?_
. (1) Daniel onlyA |
. (2) Brandon only

(3) Dapiel and B‘.r'andon only

| 4) Jane and Brandon only -

18




21 The diagram below shows a toy rocket being la'un'g:hed ubwar_ds_.

As it rises, its kinefic energy changes. At the time the rocket reaches the highest point, most
of-the kinetic energy of the rocket has been ~ - - : ‘ :

. (1) converted to friction :
(2) lost to the surroundings
(3) stored back as chemical energy .’

' (4) converted fo gravitatiohal potential energy

19



. 22 The graph below shows the change in the size of the frog'populatio'n ina pond ‘over a period
.. of time. ' i ' )

number of - 4
frogs

. wéeks .

The energy pathway below shows the food rela’uonshlp between frogs a’md other organlsms
~ For example, the ;nsects are eaten by the frogs.

insect ‘ /_' human.
Lr frog' T A—— bird
cat

What could be the possible causes for the change in the frog population above 7

A A significant increase in the water Ievel in the pond
B A s:gm’r’ cant decrease in the cat populatlon

- C A significant increase’ in the human popula’uon
D

A significant decrease in the insect populatlon

(;i) Aand Conly
(2) Aand D only
.(3) BandConly

(4) CandD only




23 Dani conducted an experiment usmg a spnng and three welghts as shown below Different
- weights were added and the lengths of the spring were measured.

What would be the extension of the spﬁng when the load wa's‘ 225 g? -
(1) 2'cm
(2) 7-em
(3) 9cm

(4 16cm.



j24 'Ma_ry carried out the following experiment on a tab!étop. When she released box A, box B did
“ not move as far as she had expected after box A hit B. ' oo

Expected - QObserved -
_ position . position
TTTTh cTTT
. 1 1 b
Tabletop = : & 1

" \What could she do to the setugto ‘ensure that box B reached the expected position 61 . !
- beyond? A ‘ - :
A Oil the table top
B Use a lighter box A
¢ Useaheavier box B
D Increase the angle (2) of the ramp
(1) Aonly
“(2) AandDonly
.(3)" B and C only

. (4 CandDonly k

22




25 A magnet was piaced on an iron pléte. It was-then given a pqéh to move it along the metal
plate. - ' ‘

Push . Magnet IR

lron plate

The follow:ng are the different types of forces that can act on the magnet

'A : Fnct:ona! force

B . Grav:tattonal_fon_:e

- €. Magnelic force -
Which of thé'.follbwing forcé(s)' must the pu’sh‘ cj\-ferc':'érﬁé' in ordéf for the ni_agne't fo move
along the iron plafe? ' S IR ‘ - '
(1) Aonly
(2}~ Conly
(3) BandConly

(4) Aand C only




.26 Daniel wanted {o find out how the te_mpefature of water_éﬁéc{s the nuriber of fishes living in a

fish tank. The fishes were placed in 4 similar tanks, A, B, © and D.

Tank Ter:‘;:f?i? of |- I:,lumbe:l' of fifsh._ . Type of fish
AL 15 - 20 guppy
B 20 30 " gold fish
C 25 20- " guppy
D - 30 20 gold fish

'

Which of the following tanks, A, B, G and D shouid he yse to carry out.a fair test?

(1)
4
3

@

" Aand C only

A arﬁﬁ’ D only
B and C only

C and D only

24



"27 The chart below shows the results collected when snmllar wetl—watered patied plants were.
placed in sunitght for different lengths of time.”

K Amount qf tmﬁe tﬁe
Plant Group. . plants are exposed to -
C _light per day (hours) -

rrr .

Which one of the following conclusions is best sup;ﬁorted_. by the results?

Average growth
-1y one week {cm)

' (1) . The p[ants that recewed 6 hours of sunhght a day grew the most
2 The plants that were given more than 8 hours of sunlight a day wilted. -
(3) The_ p[ants- that recewed 2 hours of _sunhght a ;_iay had the m_o:si_: leaves.

"(4) The plants that were given less than 4 hours gﬁf sunlight a da'yf had the thickest stems.



28 Two' metai balls, A and B are rnovmg on the ﬂoor at différent s'pe'e_ds in the same diréction as .
shown in the diagram below. o S

What will likely happen fo balls A and.B after collision?. '
M A will slow down and B_\';vill increase in speed as A will transfer some of its kinetic
energy to B. e SR - -

. {2)  Awill slow down and B will'increé_se in speed as B’Will transfer some of its kinefic -
energy to A. L - L

(3) B will slow down and A_will increase ln speed as B will transfer.sém_e of its kinetic -
enefgy to A ' B ‘ '

4y B will 'slow down. and A wsll increase in speed as A will transfer some of its k’ineti'é.
energy to B. : ‘ ' ' ' R

26




29 . Andrew conducted an experiment as shown in the diagram below. Sl

He pulled the rubber band backwards together with a stane to position A.When he released
the stone, it moved forward and hitthe can.. The:can fell off the table and hit the ground.
Which-one of the following shows the torrect main energy cohversib_n that took place from the
moment Andrew released the rubber band till the can hit the ground? C :

(1) elastic potential energy (stone) —» kinetic energy (stone) — kinetic energy (can) >
: sound energy + heat energy Co : ’ .

(2) chémical potenfia! energy (stone) —> kinetic energy (stone) — kfnétic e.n'ergy {can) —»
sound energy + heat energy - :

() elastic boténtiél energj (stone) —» :kinetic energy (stone) — gravitational potential energy

- {can) — kinetic energy (can) — saund energy + heat energy o '

(4) chemical potential energy (sfone) — kinetic energy (stone) — gravitational potential
energy {can) — kinetic energy (can) > sound energy + heat energy - -




3e A boy throws a ball upwards from point X ta Y. On its way up, the bail decreases its speed at
‘a constant rate till it is momentanly at rest at the highest point, Y. e

' -.'Whrch one of the following graphs best represents the energy change of the baliasitis

thrown from po:nt X1oY? '

M - | @.
Lkinetic™ 4 S T kinetic 1\
energy ‘energy
" potential 'p‘otential
energy .energy’
3 o | @
: kinetic 4 . - kinetic 4
energy energy
potential potential
-energy. energy
- End of Booklet A -

28 -
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- For questions 31 to 44, write your answers in this.booklet.

The number of marks avarlab[e is shown in brackets [ 1 at the end of each questlon or
part question o : _ . (40 marks)

31 James poured 100-cm’ of water at room temperature equally into two contamers A and B,
which are made of amerenr matenals A thermomeier was then placed in each container
as shown below.

hermometer

container /Bﬂ

—50 cm”® of wate/r

co ntainer A

flame

] e

The two containers were then heated from room temperature at 30°C to boiling point. The
: table beiow shows the time the water in each container took to reach boiling point.

: Container A__|__Container B.
Time taken to reach boiling point 10 : . 158
(minutes) E : i

(a) James wants to use one of the fwo containers. to keep a steam ‘bun hot for a longer
time. Which container should he use? Explain your answer. o 11




"(b) Draw two lie graphs in the space below to represent the two results in the table. Label "
the container A and container B.. - L 2

100

-
=

D .
[~}

B
[<]

™

_ Temperatﬁre‘,(“C)

.o

5 10 15 20

“Time (minufes)

32 The leaves of plants usually dontain 'les's'-,,-;

’ EE@ on’ the upperside of the leaves -
compared to the underside. AT . g

 Stomata

. . (3)Whatis the function‘of the stomata? -~~~ gy

(b)Y Why are less stofnét:a fo_und on the ;prérside of kaaveé‘? . o ; : [g]




33 Mary carried out eiri-experiment ona stém of a plant aé shown below. She ébser\ied: that o
the leaves at position Y died after two days. ' '

-
N

2 ¢m ring is removed from stem .

1 em ring is removed from'stem -

(a) Inthe diagram below, shade the part of the stem that transports water. M

(b) Eﬁtﬁlain why the leaves at position Y will die first-after two days.- ‘ {2




. 34 Gary wanted to find out if-rod A or rod B cari conduct electricity. In addition to the tWo rods
given to him-as shown below, he was aiso given some wires, two similar light -bulbs and
iwo identical batteries. He was not allowed to use any other apparatus. -

I |

Ro.dﬁg ' Tl ' RodB

{a) Using ohl'y the items Gary was given, draw two circuit bdiagrams to show how he
could connect them in order to carry out his inyz_}esﬁgation. . : 121

Circuit diagram 1:

| Circuit diaqram. 2: ':

-

(b) Atter setting up the two circuiits, expia?h how Gary can conclude which rod conducts
“electricity. .- . o o T A - 12]

i




35 ',G'Iehn left a gléss of water éon{aining ice cubes in his classroom. Alter ten minutes, he
saw water droplets forming on the autside of the glass as shown in the diagram below.

ice cubes

: ('a) ‘Explain why water dropléts could be found on the outside of the glass. 121

" (b) Glenn took another glass of water with ice cubes and put it o a table inside’the

‘ computer {aboratory where the air-conditioner was switched on. After ten minutes, he.
observed there were no water droplets found on the outside of the glass. Provide an
‘explanation for Glenn’s-observation. . : L N




36 '. The diagrém‘ beloW_shoWé the stages' of -a germinating'__seed.‘ s

(a) At stage D, fhe seedllng no longer requires. the' food stored ln the seed leaves t6 grow.
Explatn why this is possible. i - 1]

{(b) Sketch a line graph below to show how the mass of the seed leaves ch-énggs’ésr the
seecfhng grows from stage A to stage C ’ - } [11

mass of seed leaves
o*

> stages -




.37 Dan éets ub the circuit as shown bve-low‘. When the-sﬁﬁtch is- closed; he observed-that the-

ron nail atiracts the thumbiacks.

. batterfes

- iron nail

“yg——————thumbtacks

(@) Wh'y is the iron nail able to attract the thumbtacks when the switch is closed? 1y

() Suggé-s,li"_f\;vo. things that Dan can do to the circuit, such that the iron nail can attracl
' S Ik

. more thumbtacks."




. 38 An englneer measured how much energy a new type of wind turbtne generated with
‘ different wind speeds. The monthly energy output is measured in kllowatt hour (kWh) A
graph of the results is shown below. :

Wind Turbine : * Energy Output frorm .
- o .~ - Wind Turbine
180 = - —
5 160 bl LI
O T 120
B 100 b
G
' lﬁﬁ% - 80 y . //.
£ ® AR wa
= 4x .
e i’
° 4 8 12 16 20 24 28 32 36 40 44
_Average Wind Speed
(kmfh)

(a) What are the energy changes when the wmd fums the wind turbme fo generate
’ -electncrty‘7 C e £ , [1]

: (b) Ekpiain Why:the nienthly;energy -outpqt-is:lpvir'-vi.rhen the-average wind.speed is fow.

— - | T

(c} ‘What will be the average wmd speed if the engmeer wants the wind turblne to
generate a monthly energy output of 100 kWh‘? i [y




- ag The picture below shows four varieties of the same spec:es of grass thatgrowin a 'p'ra'jirie

ecosystem.
Flowers v
) .. ¢ . !I
A : '.1'-
- P‘Ff - &;f
ot \‘. o~ )
. .!.'// o E A
Ak e
/A . 4
B “-e = B

Varlety1 Vanety 2 o Vsiﬁéty 3 Varietyt&_'

Whick vanety has tiie’ best chance of survwmg a Iong penod of dry weather’? lee two'
reasons fo support your ansWer .

(2]

400




40 In a particular forest, the size of the squirrel population is T00. The forest'was cledred and
new houses were built. As soon as the houses were completed-and new irees planted as’
shown below, the squirrel population size in the area decreased to-35. After five years, the
squirrel population slowly increases to 80. . : I h

(a) - Give one possible reason for the decrease in the squirrel poputation. Ul

(b) Give‘twd poésible reasons for the increase in the squirrel population. I V4 |

11" _: | B




a1

“Aini did an experiment with four idéntical balls, A, B, C arid.D: She,droppéd theri from
- different heights and recorded the time taken for each ball to hit the ground. The table
below shows ifie resuits. . - ‘

Time taken {seconds)

Ball’

A S

B._. 7 —
c .' 5

D 15

' - (&) ' Whiéh ball'has the mc;s’-t k.i‘.:ﬁ:i—::fic':ér{e'rgy JUs’c Béforé.if hits the ground? Ekplai_n your_

answer.

121

the ground.

(b) State two energies that the kinetic energy has been changed into when _thé béll hiis 3

Ry

12




42 David wanted to find out the type ofAerivironmeﬁt that certain animals prefer. He filled half
of a section of a container with some soil and the other half with sand. Thereafter, he
covered haif of the container with a thick black cloth, leaving the other hah;'5 exposed {6 the
sun. ‘ . ‘ Pl

=g
. PFA
A sand under . - Crsand ..
cloth L

'B:soilunder - ‘AD.: soil -
cloth . :
David then put three pppula'tic_)ns,of animals X, Y an:d/é-, in the centre 'of the container and.
. left the whole setup in the sun for six hours. After s;‘zé.houi's, he removed the thick cloth and
-counted the number of animals X, Y-and Z in eachsection. The table below shows his

resufts. " . . .
Sectio Number of Mumberof | Number of
" | Animal X AnimalY. | AnimalZ.
A8 2 | o
B - X _ 3 - 0
C 0 . o B
D’ 0. ' | 2 - g

(é) Based on the resulis, Which animal popu!aﬁon, X, Yor Z, prefeﬁea the soil .

environment? Explain your ariswer. ' » ' {1}

- (b} With the thick cloth removed, David left the confainer in te _éun for anofher six hours:
' After six hours, he found that one population of the animals has died.

Which p@éuféﬁon, uﬁf Z, of the animals died? Explairryour answer. 2
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43 . Richard " dropped a partiaﬂy deﬂated ball on-the ground and 1t bounced only three tlmes.-' B

before it came to rest.

ball
a0 O LT
SN :
E- ::/{ A‘\ ’Ql\ ) ; :
: ll '\‘. 7(’ S ’ l.
:/' \‘v’.r A '\ \ ) O i *A.‘ )

He then pumped in air lnto the ball till it is fully mﬂated He dropped the ball from the samie -

height as in the- previous experiment and noted that the l;)éll now bounced more than three
~times before 1t came to: rest '

. (a) Exp!aln why the lnﬂated ball is able to bounce m‘ore than three times: 2]

P

(b) Identify one force that was acting cor_rﬁnuously on the ball. Sk
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44 The diagram below: shows how factones use magnet:c separators ’co separate magnetlc
grams from the non- magnetlc ones. :

- : - mixture of magnetic and
thin non- nori-magnetic grains

magnetic belt’

eroller with
" magnetsinit

roller without . |
© magnetsinit’ -

“ containers.”

(a) Write'the letters Aor B 'in the table below to show where the magnetrc and non- -
“magnetic gralns will’ fall into. . ‘ _ m

- Type of grains . | Container

Magrnetic . -

" Non-magnetic -

'(b) -Explain younan'sivefih (a). PN o - 2L

- End of Paper -

R Have you checked your answers'? -
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31)a)Container B. As it container B is a poorer conductor of heat than
container A, it can prevent heat from escaping easily.
b)

: cmtgcr '
co‘s’cx\xs“ ’

100 ?\, 7

=]
=]

o
[~

K.
N

Temperature (°C)

Ay
[~

-]

P 5 1 - 15 20
‘l'irne(mihutes}

32)a)The stomata allow gaseous exchange.

b)It is to avoid direct sunlight and reduce water loss through evaporation.
If it is exposed to sunlight, the plant will lose more water as water in the
stomata gained heat and evaporated.

33)a) .
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33)b)The leaves in position Y cannot get water from the roots as the water-
carry tube (xylem) has been cut off. Without water the leaves in position Y die
first after two days. :

34)8) .| Circuit diagram 1; : : Chodh AD

: e
L‘—@* //
| S Rvile
| | Gircuit diagram 2 : "l N
".L L 1!
4

b)If the light bulb in the circuit with Rod A lights up, means Rod A
conducts electricity but if it does not light up means Rod A is not a conductor
of electricity. If the light bulb in the circuit with Rod B lights up means Rod B
conducts electricity but if it does not light up means Rod B is not a conductor
of electricity.

35)a)The water vapour in surrounding air touches the cooler surface of the
glass, the water vapour loses heat and condenses into tiny water droplets on
the glass.

b)The temperature of the water vapour in the surrounding air is the same
as the glass of water with ice cubes, as they are same in temperature, no
condensation can occur thus no tiny water droplets can be found on the
outside of the glass.

36)a)The leaves have a green pigment called chlorophyll, with chlorophyll,
they can trap sunlight to make food for them to survive.
b) 4
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37)a)YWhen the switch is closed it forms a full circuit, so there is electric
current flowing through the iron nail, thus the iron nail becomes an
electromagnet allowing it to attract magnetic things such as thumbtacks.
b)1)Increase the humber of batteries.
2)Increase the coils of wire around the iron nail.

38)a)Kinetic energy of the wind—>kinetic energy of the spinning turbine->
electrical energy of the generator.

b)The lesser the wind, the lesser electricity is generated.

c)32 km/h. '

39)Variety 3. It has the most roots to absorb water from a short shower 2. It
has the shortest stem so it does hot have to provide much water to it, thus the
other parts of the plant can get more water.

40)a)After the forest was cleared, the squirrels have lesser things to feed on,
thus most of the squirrels died due to lack of food, causing them to decrease
in number. :
b)1)The new trees provide food for the squirrels.
2)The trees grew and the squirrels can escape from predators by
climbing on the tree or blending itself with the trunk of the tree.

41)a)Ball D. It takes the longest time to hit the ground so it must be dropped
from the highest point. Hence it has the greatest gravitational potential
energy which is converted to the most kinetic energy just before it hits the
ground.

b)Heat energy and sound energy.

42)a)Z. It has the most animal Z on the soil environment.

b)X. Most of animal X stayed under the doth, removing the cloth caused
- them to be exposed to the sun, as it is hot suitable for them to be exposed to
the sun. They died.

43)a)A fully inflated ball has more air and hence a greater mass than a
partially deflated ball. The inflated ball has gravitational potential energy and
hence greater kinetic energy just before it hits the ground which enables it to
bounce mcre than three times.

b)Gravitational force.

44)a)A,B

b)There is magnet on one side of the roller, magnets only attract magnetic
objects. So the nonmagnetic object will drop into container B as it cannot be
attracted to the magnet while the magnetic objects are attracted to the
magnet, as there is no magnet after container A, the magnetic object falls into
container A.
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